STATISTIC FOR MANAGERS

UPF MBA FULL TIME 4

PROBLEM SET 1

Due October 5, 2005

1. A consulting firm has been asked to obtain the probability that each individual of the sample of young people between 16 and 30 years old in a set of cities given the sample size.

	City
	Total population
	Population 16 to 30
	Sample size

	
	
	
	

	08019-Barcelona
	1503884
	309829
	278

	48020-Bilbao
	349972
	70696
	100

	10037-Cáceres
	82716
	19825
	100

	25120-Lleida
	112199
	25330
	100

	27028-Lugo
	88414
	19036
	101

	28079-Madrid
	2938723
	651322
	270

	29067-Málaga
	524414
	132721
	109

	28092-Móstoles
	196524
	58749
	98

	30030-Murcia
	370745
	92844
	100

	07040-Palma de Mallorca
	333801
	82648
	100

	37274-Salamanca
	156368
	34853
	100

	41091-Sevilla
	684633
	169397
	100

	45165-Talavera de la Reina
	75369
	17892
	109

	47186-Valladolid
	316580
	76026
	100

	36057-Vigo
	280186
	68195
	100

	01059-Vitoria-Gasteiz
	216852
	50437
	100

	50297-Zaragoza
	614905
	136082
	99


2. Construct the weight we should assign to each individual in the sample of each city in order to obtain representative results for the young people of this cities.

3. If a sample of housing units is selected as the first stage of sampling adults aged18 or older, the response rate is the number of completed interviews divided by the number of individuals in the study population designated by the sampling procedure to be in the sample. Would you include or exclude the following groups from the denominator when calculating the response rate? (Why?)

a. Vacant housing units

b. Those who are away in vacation

c. Those who are temporally in the hospital

d. Those who refuse to be interviewed

e. Housing units in which all residents were under 18

f. Those who could not speak the consultant’s language

g. Those whom others in the household said were mentally ill or too confused to be interviewed

h. Those who were never at home when the interviewer called

Define the population to which your sample statistics (and your response rate) apply. 

4. Imagine that you are sampling students from a set of schools. There are 40 schools and 20.000 thousand students in the city. Fill in the following table. Do you need any additional assumption? For what purpose?

	
	Probability of selection at stage 1

(schools)
	Probability of selection at stage 2

(students)
	Probability of selection

	All schools; 1/10 students in each school
	
	1/10
	

	Half of the schools; 1/5 of all students in them
	
	
	

	1/5 of schools; then select half the students
	1/5
	
	

	Select 1/10 of schools and all the students in them
	
	
	1/10


5. Disregarding monetary costs, describe a survey research problem for which a mail survey would probably be the best choice, and explain why it would be better than the alternatives. Do the same for a random-digit telephone survey, for a  personal interview household survey, and for a survey conducted over the Internet. 

